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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.

(a) Give characteristics and uses of normal distribution.

(b) The average height of a group of soldiers is 68.22" and
the variance of the height is 10.89. Out of 1000 soldiers
how many soldiers do you expected to be at least 6 feet tall.

OR

In a normal distribution 31% of the observations are less than
45 and 8% are more than 64. Find mean and S.D. of the
distribution.

(a) Explain the time series and analysis of time series.

(b) From the following data fit a second degree parabolic
curve.

10 11 12 13 14
h% 7 9 10 13 18

OR

Find seasonal variations by the method of moving average.

Year 0, 0, O on
2004 56 48 62 46
2005 60 54 66 52
2006 70 56 68 54
2007 68 60 64 56

(a) Explain various methods of sampling.

(b) A population consist of 2, 8, 10, 16 observations. Write
down all possible samples of size three without replacement.
Verify that mean of sample mean is equal to population
mean. Find variance of sample mean.

OR
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3  Find missing variables in the following data: 15

Stratum | No. | Mean | Variance | Sample Size
A - 42 - 12
B - 45 50 10
C 80 50 70 10

| N=300, 7=45.13, ¥(7,,)=1.66 |

4 (a) Explain Association of attributes and its types. 8
(b) Find the missing frequencies and find data are consistent 7

or not. Where N =100, (o)=40, (4B)=10, (ap)=20.

OR

4  The information regarding blind and insane persons in two cities 15
is given below. Obtain the co-efficient of association by Yule
method between blindness and insanity in two cities and compare

them.

Particulars City A City B
Total population 2,70,000 | 1,60.200
No. of blind 1000 2000
No. of Insane 6000 1000
No. of Insane among the blind 19 9
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